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Determine the exact values of the following.

a) cot30° b) sec—3—7£ c) T
6 csc60°
d) tan meE e) s.in —6% f) csc( _23_71-]
In which quadrant would you find ...
a) P(-1200°) b) __71377[ c) 913—7”
d) 492° &) P (2—271) d) 2.5 rad

5 26

If P(Q) = (—7,——7—] , determine the exact values of ...

a) secd b) coté c) cosé

Find the coterminal angle within the restriction 0 <@ <27 that corresponds to ...

5 480° b) -17x o 1157
6 4
d) —igi e) 61—” d) —513°
2 3
-Given cscx =2.366, determine ...
a) sinx b) cotx

Determine the area of the circle whose arc length is 30cm and central angle & = —8— ]

Determine the value of x, if ...

COSX:E.S ¢) cscil®=x

a) sec40° =2 b) -
3 sin x

3 kY4
Givencosd = o determine the possible value(s) of tan@, if % <8< Tk

: ; ; 4 )
Given a trig point P(é‘) = (n_z ,—g) , determine the exact value of cot& .
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Determine the coordinates of the following trigonometric points (exact values where

possible).
I
5 o\ 4
d) P(—%—”) ) P(——IOM )
3 6

c) P(122°)
1197

Pl

i ( 7 )

Eleanor rode the carousel at a fair. The radius of the circular path she traveled was 2.1m.

1 .
Eleanor's speed was 1.5 m/s and the ride lasted for 25 minutes. What is the measure of the

cenfral angle that corresponds to Eleanor's ride....

a) in radians?

~ Prove the following trigonometric identities

a) sin'f —cos*d = 2sin*@ — 1 f)
b) —(Ept_—lx—:coszx )
-
tan” x

/) 1 2
sec"@g—1 csc

(02 * ¢*CSC§D=S€C§0 h)
l+cot g tang

2cos’ x— -
9 COS” X —CcOoSXx 1=2cosx—1 iy
cosx—1

e) sin’ ¢7<1 + cot’ gﬁ) +cos’ g}(l + tan’ (0) =2

Solve the following trigonometric equations.

a) tanx =secx d)

b) cosd+2=3cosd e)

¢) 2sinacosa =+/2 cos & 1]

b) in degrees?

(1 + tan® 9)(1 —cos’ 6’) =sec’ 4 -1

cos’ a .
——=l+sina
I=sina

sec’Bcoth
— =t

csc™ 4

sin*x—cos’ x=1-2cos* x
. 2
i) escta—cot?a=1
sinfo=3cos’ o

3cot f+5sec f=4

sec’ x+3tanx—11=0



Trig Circle Reveiw 1 Answers

[

° JE/
1. @) cok 20 s B2 =
) ‘/L ';L)‘l ﬁ
Hx = )= Z 2 » V3 2
by sec 3 sec () Bl 25
vz ]
o) dands® - (%) . £ _ v
C'SCQDO 2/@ ?7/‘)'3 2"\”
d)%(ﬂ=wn”ﬁ=hnﬂ= e =t
4 * =, e
’ s _ \z
€) S\r\bg_'lc = SinT3 = 5/7_
=
£ i = CSc I N T
5) SC( L%IC) S % 2~
2J5°
)
e
2. o P(-1200°) = Quad 3
b =T = 3
, 1 -
C 3 ::> 3
) £ -
dy 492° = 2
) &
e) 1P [287\ =2
»of{Fa sl
C) 28ead = %
5
;) b= -% by cokp= 9 CsB=-2
b
7
= e ]
Y23
_}_‘r
26 e
-5(e



a) ,120° b) t
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<) 3T
e G
Ve ke
&y V2 ey "3 )C) 207 °
5. cscx = 2.3l
a) Sinx= _1 ® 0.42 by cobx = L
2.3l Yan ¥
x= éln—\(o-'i13> =
%X = 0.430 Rad R
= oues
= 2.14
B
= = = L
b | = B¢ L=30 'S 4
oy
r= 30/3,11
¥
¥z 25,46 cnv

£ a) sec 1’7 X by cosx =25 e) 6schl® =%
3 Sin )~ |
'X—: 3 Sec}'&od g\'\ﬁ. = __l_ Siha\o
= 2 CoSy 2,5 \
cosH0° +ahX,= 0;"‘ (O s 54
X= 392 %= tan 04 1,29
B X =0.3® Rad By



‘I%se&;zzr (q__uo.el\fa.n\'s 2 ¢ 3)
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4
1 O sine= 4 . banb- sion s
-1 L5 @ snb- i

Bxrh
=1 ‘4{3
8. :‘4/5_ = “‘4/3
CI- qe) ’@) _3‘> L SnB = =M

gm0 ﬁ_\'&c\fw\'\: 300t

10. a) ?(795) = [cos T/g

Sta > ‘08oqi0508=
b P(25%) - ?<23f+“/> © (7w %) - P (5F)

ey Pha2) = Qs 22°, sinl2z®) = (—
& PCep)- P(M) =, %

o ?(17) 28 - Bz,
£ 2() #(i37)= 7Ge) = (-9




g 11. Y = 2.lm

L = l“sm/,s ® GOSCCD'$ x Z-ISM\(.\\&LCS

Midute

= 225m
L=6&v
Ei= b

B = 225
2]

) B= yor o fadis.

2., 4 st a ~ Cos' B = ZsintE -]

(sin™® + cos*eYsi*® - cos™®) = 25170 |
i 2 (S\'n"'e il \—S.\r\ze)) = 280 ©-)

Sin?B = 1 & sin?P = 25in D)
25076 - | = 25w’ -\

S 2 (\JchanlEr‘Xl-cos"eS= sec” D - |

I

<Se;'f 6 )(sin* &)

: 6\.’0?— e =

cos?t

Sec’e—\
5cc.16 =

"‘aﬂze = Sec,ie‘—\
Sec*B-| = sec'e -\

n® = 104 (1s0)

I%

|VL=— G 138,83 ,



2
= _COS %

b) cok*»

o x

cot,* v e PAS ¥

| + cot’x
CQ& 1! =
esctx
£o5%%

Sla"%
\

———

S\n%yx

COS %

- 2
= Cos" x

cos®% . sin™  =cos x
}fn}{ \

cos®*¥x = Cos“yw

d) 2C§zz= = (“_L_*' = ZC'DSX‘\
Cos Y — 1\
(2cosx 4| \Q}Z@ = Jcosx —|
Cos |
2cos ¥ +\ = 2cosx —\
%_\) cos?x = A 4 5nd
\ —Sinck
S"‘ siﬂlﬁ = 1 + Sir\Ok
\— Sind

i\+s{nd\(\%og = |y Sine!
),»sm

\ 4+ Sihal = 1+ Sinak

) sectp-l . csc®@ .cscp = sec@
l+cot’—q> +ony

don®P . csdP . ocp = secy

csetp tan®
tan@ « cscg = Secp
S0 . | = Sece
Cosp  SIn®P
\ = Sectp
cos @

Secq = secq

S s{nz@ (1+C0L7'<P) - CQS.LQ (|++an7'cP) =2
S\ (p-cScrp + Cos'p-sec = 2

1 + 1 =
2 =2,
hy __sec*® cot® = fan®
CSEE
\ gﬁé
C-;S_’;-B * sn0d = J01n6
o . S s
‘/Sinlb
| N =)
ot —=-kaal
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) Snx - costx = \- 2c0s ™%
(Sir\q')c + cos’xﬁ(n"'x - Cosix) = )-2cos %
Sin*x - @s*x = |- 2cos
\ - cog*x - cos . =1- Zcosix
\ = 2 cos™¢ = 1- 2cos X

Sec »
|

—

CoS X

5 . & banx
Sinx
(e 2

5‘1\'\! -1

CcoSs x

= 0

Sinx.-\=0 cos X.F O

X_‘ ____S\'.ﬂ'/z}
[ )\\o

.4

) ISin cosal = \}—Z.Tcoso\

ASinch casch -~ N2 cosah =0
aesol (Z_Sinol —\l'f_>=o

eosdA = O Zsind—JZ:O
A 5{‘!1’/2)31}2} 2sinck = 2

Sinch= V2

&

i {1174)31/4}

'0“ {ﬂ/‘.*aﬂllva%)a%} '

RS =f= {‘«/7_) 3“/2.}

) csc o - cot’a = |

ot?a + 1 - cotra = 1

.= 4

N

b) cosS +2 = 3cosS
2 = 2cosd

1 = cosd

§=3 0%

sih?*cg” = 3 cos’c
D = 3as*d — sinid

0 = 3ecos®d - (V- ces®0)
O = Heos*d - |

1= "\Coslo’

Yy = cos*d

tY% - cosd

'-l‘“/a , 5’11'/‘3}

'(f = {«/5721/57 /

E



13 e EﬂROP\/ P =*x +3bonx - 1l=0
T+ban’x &+ 3kox -\ =0
‘o™ + Btonx—\D =0
Q&an‘x- Z)(&mx_ A 5) =0
Nt -2=0 o danx +5=0

)cwr\x =22
x= 4o ' (2)

x2 L\ ead
A——/

x= 270~ LA\

x= 4. Fl

‘oax = -5

%= Yo' (-5)
%= —\.W 3%

= 4,9|

3%

f\-}?‘

xX= 37

P, {\.\\) 1.3%, 431, Hm}
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